Name: Date:

Teacher: Class:

Addition and Subtraction 301

Why did the boy eat his homework? Because the teacher
said it was a piece of cake.

Calculate.
1 56 2 47 3% 11 4 79 5 72
+ 10 + 41 + 35 + 10 + 21
6 29 7 57 & 32 9 53 10 35
- 11 - 12 - 21 - 21 — 14
1. 57 12 g 138 1 14 37 15 Qf
+ 32 + 31 + 60 + 42 + 14
6. 34 17 40 18 38 19. 922 2. 37
- 31 - 10 — 17 - 10 — 23
2. 66 22 76 23 44 24 70 5. 17
+ 22 + 20 + 23 + 20 + 12
6. 79 27. B0 28 59 29. 926 30. §3
- 11 — 10 — 26 — 14 — 22
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Answer Key

Date:

Teacher:

Class:

Addition and Subtraction 301

Why did the boy eat his homework? Because the teacher
said it was a piece of cake.

Calculate.

1 56 2 47 3% 11 4 79 5 72
+ 10 + 41 + 35 + 10 + 21
66 38 46 39 93
6 29 7 57 & 32 9 53 10 35
- 11 — 12 — 21 — 21 — 14
18 45 11 32 21
1. 57 12 g 138 1 14 37 15 Qf
+ 32 + 31 + 60 + 42 + 14
89 87 I4S) 79 109
6. 34 17 40 18 38 19. 922 2. 37
— 31 — 10 — 17 — 10 — 23
3 30 21 12 14
2. B 22 76 23. 44 24 70 5. 17
+ 22 + 20 + 23 + 20 + 12
38 96 67/ 90 29
6. 79 27. B0 28 59 29. 926 30. §3
- 11 — 10 — 26 — 14 — 22
68 50 33 12 41
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